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PRE-ALGEBRA
Use a proportion to solve each p

rate, how long should a 3-kilogram roast be cooked?

It should be cooked minutes.

- A jogger burned 96 calories during 8 minutes of jogging.

At that rate, how many calories would be burned during
14 minutes of jogging?

calories would be burned.

. On a certain map 2 inches represent 250 miles. What dis-

tance would 3 inches represent on this map?

Three inches would represent — miles.

- Six tons of ore can be processed in 3 hours. At that rate,

how many tons of ore can be processed in 8 hours?

tons of ore can be processed.

- An automobile used 8 gallons of gasoline in traveling 120

miles. At that rate, how many gallons will be used in trav-
eling 360 miles?

—gallons of gasoline will be used.

- Nine items can be produced in 15 minutes. How many

items can be produced in 35 minutes?

items can be produced in 35 minutes.

» A baseball player has hit 9 home runs in 54 games. At

that rate, how many home runs will he hit during a 162-
game season?

He will hit __home runs.

- A 9-inch piece of rubber can be stretched to a length of

15 inches. At that rate, to what length can a 12-inch piece
of rubber be stretched?

__1inches,

It can be stretched to a length of
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